ANALISI MATEMATICA B
LEZIONE F6 — 19.4. 2021

{E(‘J’ ¢ U:HAM ?
2
! 3

»

o) =~ MOWQM

ES ll (,l" iU = Sffu()(-tl) — equ‘efﬂw

u'(a\ = O

P 0 ieco - PO = A4 1 = (A+i) (A-1)

(1) = @ GRaelrtl) +a x cot(xd + beos (x]
— b x g (e tt)
\\ X -
Uy (2\ =24 cof (xtl| 2w e -2b g (et

— bx ¢ (n+1)



iy
..‘—
1
,K
— ]
0
(o
G
(x1\
—2b
:
w (x
+1)







(czr;.,cﬁﬁ. NI amﬂoWW)

A K

/A ﬂq(fz,) = A ur-- 4 AM(I\ U I\
' / / " '
a,' u,(/ [X\ — A,“’l)'u,, A .. 4 ﬂ”{:ﬂ 'UW + A‘f ud‘l'“ - 4—A‘a A

( W
Uy = Ay e 6B U AT A

R e E——
[nl Pl
q: uﬁr o Al ufn"l--.-. 4 A,u u,f:] + A' u: te- +fy ad‘:k
1|
A b) Lo L(:d
‘Ix?l T 4 A-MG)“L‘A“ 4 b (%)

(/
(") ') ( (A

M}'ﬁ_ﬁ_M = Lu= b)






=S X su X >
!
O{M _8\‘(‘7( G5 X TU£x+g~bqﬂi

B'() N6 e

U p.a

l . | 2
AR suy —A () DX =
S
- A '(az) cinla — A\&l ot 2
"'A|(X\ = A L K

A(X) :f){(—?{uyd'\e - stx—j.d-wx dx

,[h :')(cofx—-ﬁ'lﬁux—

- X A’\\uB‘C




= x S x kG
U;/az) :(154’1 -rur ] GSx & (?18\‘11 L*U-?S)t\ Q:u)c

— XCﬂE?‘)( - f‘h}ﬁfk + X ;&u?a +cJVZ“/'x

T/‘dﬁ [099@%\111/& (L(%) = A-cosxtBgux +o¢
thews ASQN 0 wabods (L cunlorda -

U TUl=x = 2X- E’, /_;:::_O
P = (A*‘(\/A—-t)
(onco y(&) = d)c+b



Spo_phi'er X wgewe , d:XxX— IR
A & e pna Lvleua e X ne s

(a) d(*t‘jl ey 0'(1:6):-"’ & *x=5
(/ii) A2d) . Al y) + dly,%)
(it 4(ny) = dly x)






